 
Figure 2 –  Relationship between income quartile and cost burden. 
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Cost Burden by Income Quartile

Box 1 - Hidden	1	2.5	2.3999999999999995	1.1000000000000001	2.7	3.6	1 ($US 157-1413)	2 ($US 1570-2354)	3 ($US 2668-3139)	4 ($US 3532-6278)	Overall	8.5	5.6	3.6	3.6	4.5	Box 2 - Lower	1 ($US 157-1413)	2 ($US 1570-2354)	3 ($US 2668-3139)	4 ($US 3532-6278)	Overall	5.5	1.5	1.6999999999999997	1.1000000000000001	1.7000000000000002	Box 3 - Upper	12.599999999999998	15.9	32.1	8	30.599999999999998	2.5	2.3999999999999995	1.1000000000000001	2.7	3.6	1 ($US 157-1413)	2 ($US 1570-2354)	3 ($US 2668-3139)	4 ($US 3532-6278)	Overall	14.2	4.3000000000000007	1.6000000000000005	1.3999999999999995	3.9999999999999991	Income Quartile


% Cost Burden



